Name: Unit 3 Study Guide Date:

A. Pythagorean Theorem

a. Write the Formula for each version of the Pythagorean Theorem:
Pythagorean Theorem: Area of a square on the side of a right Triangle:
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Recognizing the Pythagorean Theorem: EXPLAIN WHY you chose your answer

. Which triangle has sides g, b, and ¢ so
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b. Find the length of the Hypotenuse. d. Find the area of the squares:
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Tell whether the given triangle is a right triangle.
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Word problems

1. SCUBADIVING A scuba diver dove
14 feet below the surface. Then,
he swam 16 feet toward a coral
formation. How far is the diver
from his boat?

The diver ‘s distance from the boat
is the hypotenuse of a right triangle.
Write and solve an equation for x,
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of a building. How far from the bottom
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MEASUREMENT A barn door is 10 feet wide and 15 feet
tall. A square plank 16 feet on #ach side mustBe taken
through the doorway. Can the plank fit through the

doorway? Justify your answer.
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4. lenna wants to string outdoor lights on her house along the roof line and horizontally across the
eaves, connecting the ends of the roof line to create a triangle.
What is the approximate total length, in feet, of lights that she needs to create one triangle?
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5. How much distance would the golfer mﬁ if he could drive the ball in a straight line from the
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6. After watching a movie, Sam and Daisy ride their bikes home from the theater. Sam rides his
bike 7 blocks West then turns and rides 9 blocks North to his house. Daisy rides her bike 6 blocks
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N East then turns and rides 4 blocks South to her house. How far apart do Sam and Daisy live?
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1. The length of the diagonal of a square rug is 6 feet. What is the approximate measurement of
the sides of the rug? C- 3
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2. The length of the diagonal of a square rug is5 feet What is the approximate measurement of

the sides of the rug? Z_K ‘?— X'z".:- {2.5
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a 24,192 1[ C d %. Find the length of the diagonal in the Rectangular Prism shown below
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2. Garth wants to send his wife a dozen long stemmed red roses for their anniversary. The roses
are 19 inches long. The florist says the roses will fit in a box that measures 4in. ngn. x 17in.
Garth thinks the roses will not fit in the box. Who is right? Justify your answer.
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3. Billy Bob and Bertha decided to go skydiving on their 24™ anniversary. After they jumped from the plane,
Billy Bob landed 4 miles west and 3 miles south of the landing target. Bertha landed B miles east and & miles
north of the landing target. If the landing target is the point of origin (0, 0), how far apart are Billy Bob and
Bertha after they landed?

Plot Billy Bob and Bertha's location on the coordinate plane to determine how far apart they are.
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B. Volume

a. Cylinder y o~ Q-L‘
1. Formula: b I ' (
2. Find the volume of the cylinder. Be sure to provide three answers. u gi .
lerms og - R=25 h=C

2 |4 for TT

m USivg M huton
UL T \Yy-2emyifnd T, 4 V=TT b
V= T V=TT2% )(&) V=-3.14)(zs) (%)
\ = 7.

VATREES V=1175m
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1. Formula

2. Find the volume of the cone. Be sure to provide three answers.
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2. Find the volume of the sphere. Provide three answers.
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C. Comparing Volumes Vi 2480 18

1. Find the volumes of Cylinder A and Cylinder B using the TU button on the calculator,

Cylinder A Cylinder B
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b. Which cylinder is smaller? woper A\ ' ppe’ A
c. What is the numerical difference between the two cylinders? ? !ﬂ»olv 9

d, If the volume of both cylinders were combined, how much would it measure
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2. What is the volume of the cone?
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What is similar between the cone and cylinder above?

What is the volume of the cylinder?
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Show work below:

V= ek
V= T@Y(:z)
V, =972 ycm 3

M6 G Vy = 305 3.0 e ®
(8.)(@fn) V3= Bos52.080m 7

; 3
In terms of pi G 127Cm "
using 7 on calculator, 0SB 6cm 3
substituting 3.14 on calculator 305 7.0k €A1

b. Looking at the cylinder and the cone above, how do the measurements of the two compare when

looking at the volume? ,
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¢. How many cones will fill up the cylinder? How do you know?
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D. Finding Height or Radius of Cones inders, and Spheres

1. Find the height of a cylinder with the volume of 11309.73 and a radius of 15.
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2. Find radius of a cylinder with the volume of 31507 and height of 14.
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3. Find the height of a cone with the volume of 565.49 and a radius of 6.
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